FRTEE

B LTI DK,
B COD#E! |AGG#HBIR) i s o
R4 E-Fi]
St.1 EF-HEE - -
— R E _
Kig (°C)
Xz |%iE(°C) =B e 2KE il iR =Xz R
58] BEh 14.0 19.3 - 9.0 5.0 BE ZxE-E |BER -
78 55 22.0 18.5 - 8.0 7.0 BE ZE-X |BER -
9| 26.9 26.2 — 8.5 7.0 BE ZE-X |BER -
18] Bh 18.0 21.7 - 9.0 6.0 BE xE-E |BER -
18] Bh 6.5 13.5 - 9.5 8.0 BE xE-E |BER -
38| ®Bh 8.8 11.9 - 7.0 5.5 BE - |EER-H
4FRIFIER
oH DO COD |XBEHH |h-~FHUH 2L=H EX ]
ET (mg/1) (mg/1) | (MPN/100ml) | ¥ & (me/D)]  (mg/I) (mg/1)
#{E] 7.8~8.3] 7.5L.F 20LLF | 1000LLF | FEHEH — —
EE(75%1E) - 8.6 1.3(1.8) - <0.5 0.22 0.014
55 == 8.1 8.7 1.6 - <05 <0.05 <0.003
hE - - - - - - -
78 == 8.0 8.0 1.8 - <0.5 - -
hE - - - - - - -
of EAC 8.1 7.2 1.9 - <0.5 0.23 0.013
hE - - - - - - -
118 EAC 8.1 8.7 1.0 - <0.5 0.28 0.013
hE - - - - - - -
1A EAC 8.1 9.2 0.8 - <0.5 - -
hE - - - - - - -
3H == 8.0 9.6 0.5 - <0.5 0.31 0.026
e - - - - - - -
BEIEE (REDHEHAD
NP INESS S ) ANEvoL| #ME #ikéE |[7rLxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
vonni| miEd [1,2-0900(11-Ssan [Lz2-12-94(1,1,1-M)o0f 112-kysa | K)HAA
2 b 3 IR IFLY AAxIFLY axT4ay aoT4y IFLY
: (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LL'F
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




TRIORRILETE s | vevy | TATY | xvey | wuy  |MEERERS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BBl 0.01LLF [0.00254F [ 0.006LLF [ 0.003LLF [ 0.025F [ 0.01LLF [ 0.01LLF [ 10LF
SF - - — — — — — —
sAl - - - - - - - -
Al - - - - - - - -
9A - - - - - - - -
115 - - - - - - - -
1A - - - - - - - -
38 - - - - - - - =
ZDHIFE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl - - i - - -
RE - - 2 - - -
e e B B B
= - - < - - -
e . s
= - - < - - -
gﬁ ;E _ _ _ — — —
= - - < - - -
P - B e
= - - < - - -
e e e e B B
B — — 2 — — —
A g - - 2 - - -
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
EHE] 17000 — 0.01
5A =E 19000 - <0.01
= 15000 - -
1H ;E — - =
= 17000 - 0.01
9A ;E — - —
= 14000 - <0.01
1A ;E - = -
= 19000 - -
= 18000 - 0.02
3A o 0 - 0




FRTEE

B L CIEHKE,
B COD#E! |AGG#HBIR) i e o
1]
R St.2 B ExR-#ER - _
—iRIEE _
Kig (°C)
Xz |%iE(°C) =B P E 2KE il iR =Xz R
58] BEh 14.0 19.4 - 13.0 4.0 BE ZxE-E |BER -
18 5 23.0 18.5 - 11.0 7.0 B ik |BER-1
9| 26.9 25.9 - 15.0 7.5 BE xE-E |BER -
18] Bh 17.5 21.0 - 13.0 35 BE xE-E |BER -
18] Bh 6.5 13.5 - 13.0 7.0 BE xE-E |BER -
3] Bh 8.8 11.2 - 12.0 4.5 BE i |BES -
4FRRIFIER
oH DO COD |XBEHH |h-~FHUH 2L=H EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LIF | 1000LLF | JEEH — —
EE(75%1E) - 8.7 1.1(1.6) - <0.5 0.21 0.018
55 == 8.1 8.5 1.3 - <0.5 0.07 <0.003
= 8.0 8.6 1.6 - <0.5 - -
s hE - - - - - - -
oF == 8.2 7.7 1.6 - <0.5 0.18 0.011
hE - - - - - - -
118 EAC 8.1 8.3 1.1 - <0.5 0.27 0.030
hE - - - - - - -
1A == 8.2 9.2 0.7 - <0.5 - -
hE - - - - - - -
3H == 8.0 9.7 0.5 - <0.5 0.33 0.029
e - - - - - - -
BEIEE (REDHEHAD
NP INESS S ) ANEvoL| #ME #ikéE |[7rLxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Z#EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | JE#EH JERH |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
94 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
onni| mige [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
) o IAy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LL'F
S'Z - - - - - - - -
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




TRIORRILETE Fosa | vesy | TATY | xvey | wuy |MEERERS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BBl 0.01LLF [0.00254F [ 0.006LLF [ 0.003LLF [ 0.025F [ 0.01LLF [ 0.01LLF [ 10LF
SF - - — — — — — —
5H - - - - - - - -
1H - - - - - - - -
9A - - - - - - - -
115 - - - - - - - -
1A - - - - - - - -
38 - - - - - - - =
ZDHIER
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FHEl - - i - - -
RE - - 2 - - -
5ﬁ ;E _ _ _ — — —
= - - < - - -
= - - < - - -
e e B s B s B
= - - < - - -
= - - < - - -
B — — 2 — — —
A g - - 2 - - -
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
EHIE] 18000 — 0.01
5A =E 19000 - <0.01
B 18000 - -
1H ;E — - =
= 17000 - 0.01
9A ;E — - —
= 18000 - 0.01
1A ;E - = =
= 19000 - -
= 18000 - 0.02
Gl 0 - 0



FRTEE

B LTI KE,
5 2 BsmEE - CODEHR! |A(H#%ER) B L m i
) st.3 [E=x-Ey - -
—i%IEH _
KB (°C)
Xz |%iE(°C) =B e 2KE %5 BA FE iR =Xz B&
58 BEh 14.0 19.4 — 13.5 5.0 BE RE-E |BER-H
18 5 215 18.5 - 16.0 10.5 B ik |BER-1
98 & 28.0 26.2 — 18.0 8.5 BE BRE-E |BER-W
118 BEh 18.5 21.4 — 14.0 6.5 BE BRE-E |BER-H
18 BEh 6.5 14.2 — 13.0 95 BE RE-E |BER-H
38| ®Bh 9.3 11.7 - 14.0 55 BE -k [BER-H
ERRIEIER
oH DO COD |XBEHM |[h-~AFH | 2% E
ET (mg/1) (mg/1) | (MPN/100ml) | ¥ & (me/D)]  (mg/I) (mg/1)
#1E] 7.8~8.3] 7.5L.F 20LLTF [ 1000LLTF | FEREH - -
EHE(75%1E) - 8.7 1.1(1.5) 5.5 <0.5 0.16 0.013
55 == 8.1 8.7 14 - <05 <0.05 0.007
hE - - - - - - -
78 iE 8.0 8.6 1.6 11 <0.5 - -
oF *xB 8.2 7.9 15 - <0.5 0.15 0.011
hE - - - - - - -
118 =B 8.1 8.2 1.2 - <0.5 0.13 0.010
hE - - - - - - -
1A xB 8.2 9.2 0.5 0.0 <05 — —
hE - - - - - - -
3H *xB 8.0 9.7 0.5 — <05 0.31 0.025
e - - - - - - -
REEIER (REDHAEHAI
IS INES YL o) ANEvOL|  ME #ikeE |7rxLkiE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.002 — <0.005 <0.02 0.001 <0.0005 — —
58] <0.002 - <0.005 <0.02 0.001 <0.0005 - -
78 - - - - - - - -
98 - - - - - - - -
11 8] <0.002 — <0.005 <0.02 0.001 <0.0005 — —
18 — — — — — — — —
38 - - - - - - - -
oooni| mige [1,2->900]1,1-CHaa [P zr-1,2-C4(1,1,1-F)H0[ 1,1.2-ry4a | FYS0O0
a2 o IRy IFLY | AaxTFLY (= ok 3 oxsy IFLY
: (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
I <0.002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
78 - - - - - - - -
98 - - - - - - - -
11 8] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
18 — — — — — — — —
38 - - - - - - - -




Th3o0a0(1,3->9n — N FARY TN .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02L8LF | 0.01LLF 0.01LLF 10ELF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01

5A <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
1H - - - - - - - -
9H - - - - - - - -
118 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
18 - - - - - - - -
3H - - - - - - - -
ZTNDIEE
Ix/—) & SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 1 0.051 - -
=B - - 2 - - -
= — — <1 - - -
=1 _ - <1 0.051 - -
9AH ; E — — — — — —
= — — <1 - - -
= — — <1 - - -
=] _ _ 2 _ _ _
3A g — — = — — —
(4] BN . .
(mg/1) (mg/1) (mg/1)
EBIE|] 18000 <0.01 0.01
58 E3E] 19000 <0.01 <0.01
= 18000 = -
= 18000 - <0.01
118 xE 17000 <0.01 <0.01
= 19000 — -
= 19000 - 0.02
3A ] ~ — =




FRTEE

B L CIEHKE,
B COD#E! |AGG#HBIR) i g o
R4 ES-Fi]
St4 [ER-HEE - —
— kI E _
KR (°C)
Xz |%iE(°C) =B e 2KE il iR =Xz R
58] BEh 14.0 19.0 - 10.0 5.0 BE ZxE-E |BER -
78 /M 235 18.5 - 10.0 7.0 BE ZE-X |BER -
9| 26.8 26.1 - 22.0 10.5 BE xE-E |BER -
18] Bh 175 20.9 — 22.0 6.0 BE xE-E |BER -
18] Bh 6.5 13.5 - 22.5 12.0 BE xE-E |BER -
38| ®Bh 8.0 11.6 - 220 6.0 BE - [EER-H
4FRIFIER
oH DO COD |XBEHH |h-~FHUH 2L=H EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 15LLE 20LLF | 1000LLF | FEHEH — —
EE(75%1E) - 8.7 1.1(1.5) - <0.5 0.18 0.016
55 == 8.1 8.4 1.3 - <05 0.07 0.007
hE - - - - - - -
78 EAC 8.0 8.5 1.6 - <0.5 - -
hE - - - - - - -
of EAC 8.3 7.9 15 - <0.5 0.11 0.009
hE - - - - - - -
118 == 8.2 8.4 0.9 - <0.5 0.16 0.015
hE - - - - - - -
1A == 8.2 9.0 0.6 - <0.5 - -
hE - - - - - - -
3H == 8.0 9.7 0.7 - <0.5 0.37 0.032
e - - - - - - -
BEIEE (REDHEHAD
NP INESS S ) ANEvoL| #ME #ikéE |[7rLxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERH |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
94 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
vonni| miEd [1,2-0900(11-Ssan [Lz2-12-94(1,1,1-M)Y0f 112-kysa | K)HAA
2 b 3 IR IFLY AAxIFLY axT4ay aoT4y IFLY
: (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LL'F
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




TRIORRILETE s | veoy | TATY | x| wuy |MEERRRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BBl 0.01LLF [0.00254F [ 0.006LLF [ 0.003LLF [ 0.025F [ 0.01LLF [ 0.01LLF [ 10LF
SF - - — — — — — —
sAl - - - - - - - -
Al - - - - - - - -
oA - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - = =
ZOHIER
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl - - i - - -
RE - - 2 - - -
= - - <1 - - -
7ﬁ ;E _ _ _ — — —
= - - <1 - - -
e e B s B s B
= - - <1 - - -
= - - <1 - - -
1H ;E — = — = _ _
B — — 2 — — —
A g - - 2 - - -
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
EHIE] 18000 — 0.01
5A =E 18000 - <0.01
= 18000 - -
= 18000 - <0.01
= 19000 - <0.01
= 19000 - -
= 17000 - 0.02
Gl 0 - 0



ERR1TEE

B L CIE DK,
B COD#EE! |A(##BrIA) i 3 B g e
1]
BRE| s | BE Emowmm =
—RIEE _
KR (°C)
Xz |%iE(°C) =B e 2KE il iR =Xz R
58] BEh 15.0 19.3 - 12.0 4.0 BE ZxE-E |BER -
78 55 225 18.5 - 8.0 7.5 BE BExf-piEER -
9| 28.0 26.7 - 12.0 6.0 BE xE-E |BER -
118 BEh 19.0 21.6 — 13.0 6.0 BE xE-E |BER -
18] Bh 7.0 14.3 - 10.5 9.5 BE xE-E |BER -
3A] Bh 10.0 11.4 - 9.0 6.5 BE ik |BES -
4FRIFIER
oH DO COD |XBEHHE |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) __[(MPN/100ml) | ¥1& (mg/D[  (mg/1) (mg/1)
EEME| 78~83] 755 F | 20LLF | 1000LLF | JEEH — —
EE(75%1E) - 8.7 1.2(1.6) - <0.5 0.18 0.018
55 == 8.1 8.6 1.3 - <0.5 <0.05 0.011
= 8.0 8.7 1.6 - <0.5 - -
A —am - - . - n = .
oF == 8.3 7.9 1.9 - <0.5 0.14 0.010
hE - - - - - - -
1A =B 8.2 8.3 1.0 - <0.5 0.15 0.018
hE - - - - - - -
1A EAC 8.2 9.0 0.6 - <0.5 - -
hE - - - - - - -
3H == 8.0 9.7 0.6 - <0.5 0.37 0.032
e = - - - - - -
BEIEE (REDHEHAD
NP INESS S ) ANE QL] BMFE kR |7LxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B8] 001LLF | FE48H | 001LLF | 005LLF [ 0.01LLF [0.0005LLF | FEHEH JERRH |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
94 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
yani| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
B o 3 IRy IFLYy |(AAIFLY | OxI4AY ATAY IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LLF |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




TEIORRILETE Fosa | veoy | TATY | xvey | wuy |MEERERU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BBl 0.01LLF [0.00254F [ 0.006LLF [ 0.003LLF [ 0.025F [ 0.01LLF [ 0.01LLF [ 10LF
SF - - — — — — — —
sAl - - - - - - - -
Al - - - - - - - -
oA - - - - - - - -
115 - - - - - - - -
1A - - - - - - - -
38 - - - - - - - =
ZOHIER
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl - - i - - -
=R | - - 1 - - -
e e B s B s B
= - - < - - -
7ﬁ ;E _ _ _ — — —
= - - < - - -
e e B s B s B
= - - < - - -
P - B e
= - - < - - -
1H ;E — = — = _ _
B — — 2 — — —
A g - - 2 - - -
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
EHIE] 19000 — 0.02
5A =E 19000 - <0.01
= 19000 - -
= 18000 - <0.01
9A ;E — - =
= 19000 - <0.01
1A ;E = = -
= 19000 - -
= 18000 - 0.03
3A o 0 - 0




FRTEE

B L CIE DK,
S 1) HE 5 FHERX
i B - CODHEE! |B(H#H) AR R
St.6 [ER-HEE - _
—iRIEE _
Kig(°C)
Xz |%iE(°C) =B P E 2KE il iR =Xz R
58] BEh 15.0 19.3 - 8.5 35 BE ZxE-E |BER -
78 55 225 19.0 - 7.2 5.0 BE ZE-X |BER -
98| BEh 28.0 26.8 — 8.0 35 BE ZE-X |BER -
18] Bh 19.0 21.6 - 8.0 4.5 BE ZE-X | BER -
18] Bh 7.0 13.3 - 7.0 4.0 BE ke |BER-M
3] Bh 9.5 115 - 8.0 5.0 BE i - |BER -
4FRRIFIER
oH DO COD |XBEHH |h-~FHUH 2L=H EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R — —
EE(75%1E) - 8.6 1.3(1.8) - <0.5 0.18 0.018
55 == 8.1 8.7 1.9 - <0.5 0.09 0.015
= 8.0 7.8 1.8 - <0.5 - -
s hE - - - - - - -
of == 8.3 7.8 1.7 - <0.5 0.14 0.013
hE - - - - - - -
118 == 8.2 8.2 1.0 - <0.5 0.12 0.013
hE - - - - - - -
1A EAE 8.2 9.2 0.6 - <0.5 - -
B - - - - - - -
3H EAE 8.0 9.7 0.7 - <0.5 0.38 0.030
P E - - - - - - -
BEIEE (REDHEHAD
NP INESI S o) ANEivoL| #ME #ikeE |7rxLkiE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Z#EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | JE#EH JERH |
E <0.002 - <0.005 <0.02 0.001 <0.0005 = =
58] <0.002 - <0.005 <0.02 0.001 <0.0005 - -
71H - - - - - - - -
98 - - - - - - - -
11A] <0.002 - <0.005 <0.02 0.001 <0.0005 - -
18 - - - - - - - -
38 - - - - - - - -
yani| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF | 0.03LL'F
I <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58] <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
71H - - - - - - - -
98 - - - - - - - -
118] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
18 - - - - - - - -
38 - - - - - - - -




F+5500[13-550 =4 | o2y | FARD | xo e .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 0.01LLTF | 0.00260F | 0.006LLTF [ 0.003LLTF | 0.02LLF | 001LLTF | 001LLTF | 10LLF
I <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02

58] <0001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
78 - - - - - - - -
98 - - - - - - - -
11 8] <o0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
18] - - - - - - - -
38 - - - - - - - -
ZNHIEE
I1/—) i SS LEH |rORkILL 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FIE - - 1 <0.005 - -
RE - - 2 - - -
= - - i< - - -
= - - < <0.005 - -
9AH ;E — — — — - —
= - - i< - - -
118 ;E — — — ~ ~ _
= - - i< - - -
B _ _ 1 _ _ _
38 i — — — — — —
LY HEEE . .
(mg/1) (mg/1) (mg/1)
SEI9TE| 18000 <0.01 0.01
58 =B 19000 <0.01 <0.01
= 17000 — —
= 17000 — <0.01
= 19000 <0.01 0.01
118 ;E = = =
= 19000 — —
= 18000 — 0.02
38 i ~ — =




